
 

         
 

 
 

HARMONIC BALANCER INSTALLATION TOOL 
P/N’S 61740, 61741, 61742 

1. Lubricate bearing and threaded portion of tool with extreme
pressure lubricant, such as Moroso Moly Paste Assembly
Lube P/N 35000.

2. Assemble tool as shown below. See appropriate part number.
3. Start damper on crank by hand.
4. Screw assembled tool into end of crankshaft and tighten drive

nut until damper is fully installed. Do not over-tighten, as this
will damage bearing.

5. Remove tool.

PARTS LIST 

P/N 617
1 – Pilo
1 – Driv
1 – Thru
1 – Was
1 – Spa

P/N 617
1 – Pilo
1 – Driv
1 – Thru
1 – Was
1 – Was

P/N 61740 
1 – Pilot Stud, SBC 
1 – Drive Nut, 7/8”-14 
1 – Thrust Bearing 
1 – Washer, 1.75” O.D. 

HARMONIC BALANCER INSTALLATION TOOL
P/N’S 61740, 61741, 61742 

1. Lubricate bearing and threaded portion of tool with extreme 
pressure lubricant, such as Moroso Moly Paste Assembly
Lube P/N 35000. 

2. Assemble tool as shown below. See appropriate part number. 
3. Start damper on crank by hand. 
4. Screw assembled tool into end of crankshaft and tighten drive 

 nut until damper is fully installed. Do not over-tighten, as this
    will damage bearing. 
5. Remove tool. 

PARTS LIST 

P/N 61740
1 – Pilot Stud, SBC 
1 – Drive Nut, 7/8”-14 
1 – Thrust Bearing 
1 – Washer, 1.75” O.D. 

RMONIC BALANCER INSTALLATION TOOL 
P/N’S 61740, 61741, 61742 

bricate bearing and threaded portion of tool with extreme 
essure lubricant, such as Moroso Moly Paste Assembly
be P/N 35000. 
semble tool as shown below. See appropriate part number. 
art damper on crank by hand. 
rew assembled tool into end of crankshaft and tighten drive 

ut until damper is fully installed. Do not over-tighten, as this 
ll damage bearing. 
move tool. 

TS LIST

 61740
 Pilot Stud, SBC 
 Drive Nut, 7/8”-14 

1 – Thrust Bearing 
1 – Washer, 1.75” O.D. 

 

42 
t Stud, FORD 
e Nut, 7/8”-14 
st Bearing 
her, 1.75” O.D. 

cer  

41 
t Stud, BBC 
e Nut, 7/8”-14 
st Bearing 
her, 1.75” O.D. 
her, 2” O.D. 

P/N 61741
1 – Pilot Stud, BBC 
1 – Drive Nut, 7/8”-14 
1 – Thrust Bearing 
1 – Washer, 1.75” O.D. 
1 – Washer, 2” O.D. 

P/N 61742
1 – Pilot Stud, FORD 
1 – Drive Nut, 7/8”-14 
1 – Thrust Bearing 
1 – Washer, 1.75” O.D. 
1 – Spacer

P/N 61741
1 – Pilot Stud, BBC 
1 – Drive Nut, 7/8”-14 
1 – Thrust Bearing 
1 – Washer, 1.75” O.D. 
1 – Washer, 2” O.D. 

P/N 61742
1 – Pilot Stud, FORD 
1 – Drive Nut, 7/8”-14 
1 – Thrust Bearing 
1 – Washer, 1.75” O.D. 
1 – Spacer

              For Technical Assistance, Call Moroso’s Tech Line at 
              (203) 458-0542,458-0546 8:30am – 5:00pm Eastern Time
MOROSO PERFORMANCE PRODUCTS, INC
                      80 CARTER DR • GUILFORD, CT 06437 

   Phone: (203) 453-6571 • Fax: (203) 453-6906 
V I s I t U s A t w w w . m o r o s o . c o m 

Rev.B    050411 
            61740INST 
HA

1. Lu
pr
Lu

2. As
3. St
4. Sc

 n
    wi
5. Re

PAR

P/N
1 –
1 –

https://www.carid.com/automotive-tools.html
https://www.carid.com/moroso/

